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J.Gartong "Jaarboek v. d.NBVP" 1952'

\ A/

1. We2 t5.01

2.

dr.Cor Goldschmeding Schach 1975 J\&2
1+1

1. hecS [5.0]

3.

#3 (5+6)
1. Eb6 Ate z. trno tt.zsl
1... axb6 2. Ed6 tl.251
1... .0do z. Eoxoo [1.25]
1... Ea6 2.gG t1.251

4

V. Gebelt Competition of the Riga
Council of the <Spartak society> L953,L

prize

#3 (13 +7)

1.6c4threat 2. e4 [1.5]dxe3 3. h4xe3#
1 ... wc5 2. ab6 [0.5]
1... ac6 2. ab6 [0.5]
1... Ee6 2. Ab4 t0.51
1... E,xfs 2. trxft I0.5I
1 ... q)c6 2. ab6 t0.51
1 ... Ec6 2. Wd7 [0.5]
1..1We7 2. WxeT [0.5]

#4 (11 + 11)

1. €g2 threat 2. hg6 fxg6 3. -Sxgs t2.01
1... Exd4 2. Axs5 fxsS 3. trga t1.5I
1... Wxd2 2. Hgafxg4 3. hg6 t1.51
6.

IO.Cenqerun <<64>> 1975 J\b40

#s (3+1)
1. gd4 &ot z. Woz €ao 3. .S.cS €a5 4. Woz
12.51
2... €a8 3. .e.b6 €oe +. Wc7 t2.51
1

[.@.flerpor <<64>>,1979 J\b41 BevepHuft

+ (6 +7)
1. e7 AxeT 2. $";dg l2.0l Wxd4 3. Eh1 Wn+ +.

Exh4 gxh4 5. €f4 tl.01 Ag5 6. €f3 nxg6

t6... h3 7. Hg8 €n+ a. HaB e2 g. Ea+ €ns
10. "S"xe2 + -l 7. 9-e2 12.01

ll.Easxo KoHrcypc )KypHaJIa

"Tevr-64t'1972 | npuz



1976 J\b33

: (4+3)
1 . t7 11.01 bg6 2. b7 s 1=w g. aO+ t2.01*xda
4. f8=W t1.01 AxfS 5. b8=W Wa1 6. €os Wot
7. €c6 t1.01 WxbS nar

[7... Mea 8, €c7 he6 9. €00 Wot to,
€a7 Wa2 11, *b6 Mos t 2. &a7 Wa4
13. €b6 Wn+ t 4. &a7 Wa5 15, €b7
Ac5 16. &c6=l

q

K.Bn4epr, Crer,ra Ilonnpucl970

h#2 2 solution (9 + 8)

1.hsa Ae3 2.4d1 o,oz+ tz.sl
i.a,e4 c3 2.4d1 Anz+p.sj
t0

@.A6gypaxMaHoBr.rq 19 62 <64 -IIIO))

11.

A. @e,rrauaH L987<Baltic chess>,1992 J\b6

s#2 (6 + 6)

1. Eb1 (1. Eat d5!)1... d5 2. Hxs2l2.5l
1... d22.Wxg2 t2.sl

T2

f..Pycerc 1972 <<64>>,1976 Ib33

s#5 (8 + 9)

1. Acl l zugzwang
1... Axcs 2. Aoz Ao+ s. Ac3 A-
4. Ae1 - 5. Axg2 @

1 . .. Ac7 2. s,b2 A- g. Ac3 - 4. Ae1 -
5.."Sx92 @

1 ... Ad8 2. 9''b2 A- s. Ac3 - 4. Ae1 -
5. -*.x92 @

@ [2r0], @@ 13.01 @@@ [5.0]

h#4

1. .€d2 Axb6 2. *xc3
4. €e3 Acs# t5.01

(t2 + e)

Ac7 3.€xd4 AxdG

axrrrarsIl9TZNslT

1980 J\t19



Open of Tula Solving Cup (Russia, Tula 25.12.2020)

Problems Difficulty (14  Solvers) 

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

5 #4 928 0.36 1 0 4 9

12 S#5 928 0.36 1 0 0 13

4 #3 908 0.46 1 1 8 4

6 #5 858 0.71 2 0 3 9

10 H#4 858 0.71 2 0 0 12

9 H#2 786 1.07 3 0 1 10

11 S#2 786 1.07 3 0 0 11

8 = 772 1.14 2 6 5 1

7 + 742 1.29 2 6 6 0

3 #3 590 2.05 5 3 6 0

2 #2 286 3.57 10 0 4 0

1 #2 142 4.29 12 0 2 0
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